SOCY7706: Longitudinal Data Analysis 
Instructor: Natasha Sarkisian
Interpretation Exercise: Mixed Effects Model with Cross-Level Interactions

Due December 7 by 9am

Using the same HRS hours dataset that we used for fixed and random effects models, run the do file provided below to mean-center variables and run a mixed effects model with cross-level interactions. The model specified is a trimmed model, with non-significant interactions and variance terms omitted. 

Here are the descriptions of all the variables that lost their labels after reshaping:

rworkhours80    Hours per week worked for pay                

rpoorhealth        Respondent is in poor health                

rmarried             Respondent is currently married                 

rtotalpar             Total number of parents and parents-in-law the respondent has
rsiblog               Total number of siblings the respondent has, log-transformed
hchildlg             Total number of minor children in respondent’s household, log-transformed
rallparhelptw     Hours per week provided help to parents or parents-in-law (recalculated from annual hours, topcoded at 1000 hours per year)

Write up your interpretation of all coefficients, all variance components (random effects), and all correlations among random effects (use estat recov to obtain correlations rather than covariances). Make sure to write in substantive terms (e.g., rather than “intercept,” you should say the number of hours of care to parents at the first wave, etc.). 

When interpreting main effects, pay attention to what interactions are in the model and interpret main effects with that in mind. To interpret interactions, use time-varying variables as your focal variables and time-invariant variables as moderators. If the moderator is a dichotomy, discuss the level of your focal variable when the moderator is 0 vs 1. If the moderator is a continuous variable, discuss the level of your focal variable when the moderator is 0, vs +1, vs -1 (or, if you prefer, +1SD and -1SD). Use margins and marginsplot command to clarify and illustrate your interpretation. 
Do file:
cd socy7706

use hrs_hours_reshaped.dta
for var raedyrs age rworkhours80 rtotalpar rsiblog: sum X \ gen Xm=X-r(mean)

gen wave0=wave-1
mixed rallparhelptw wave0 rworkhours80m rmarried rtotalparm rsiblogm female minority c.raedyrsm##c.agem c.wave0##i.female c.wave0##c.raedyrsm c.rworkhours80m##c.raedyrsm   i.rmarried##c.raedyrsm i.rmarried##c.agem c.rtotalparm##c.agem, cluster(hhid) || hhidpn: wave0 rtotalparm rmarried, cov(unstr)
1

